Pegel Eschenau
Ereignis39, HQ 2
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N-Summe: 44,08
Scheitelabfluss: 97,80

Q Ereignisbeginn: 10,3

Ereignisdauer: 211
Abflussbeiwert: 50
N-Dauer: 69
max. N-intensitat: 2,95

mittl. N-intensitat: 0,64

Verzbgerungszeit: 11
Vorfeuchte: mittel
Wetterlage: 39

Niederschlagsverteilung

EZG Pegel Eschenau
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unker 32,40
32,4 -33,6
33,6 - 34,8
34,8 - 36,0
36,0 - 37,2
3F,2-384
38,4 - 396
39,6 -40,5
40,8 - 42,0
42,0 -43,2
43,2 - 44,4
44,4 - 45,6
45,6 - 45,8
46,8 - 48,0
43,0 - 49,2
49,2 - 50,4
20,4 -51,6
5l,6-52,40
L2,8-54,0
04,0 - 55,2
Ober 55,20
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